
ANTWOORDEN – Deel 1: EVENWICHT 
Hoofdstuk 3, Statica van een star lichaam  vraagstuk 3.42-1 t/m 6, blz. 101 

laatste wijziging: 16-04-2002 

 
Opmerkingen: Zie §3.2, blz. 66 t/m 75 
 
Antwoorden:  
 
1. b 52,7 kNN = − ; d 16,7 kNN = − ; o 60 kNN = +  
 
2. b 52,7 kNN = − ; d 16,7 kNN = − ; o 10 kNN = +  
 
3. b 87,8 kNN = − ; d 2,8 kNN = − ; o 35 kNN = +  
 
4. b 63,2 kNN = − ; d 14,1 kNN = + ; o 50 kNN = +  
 
5. b 63,2 kNN = − ; d 14,1 kNN = + ; o 0N =  
 
6. b 89,6 kNN = − ; d 2, 4 kNN = + ; o 33,3 kNN = +  
 


